(Search algorithm)
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https://ko.wikipedia.org/wiki/%EA%B2%80%EC%83%89_%EC%95%8C%EA%B3%A0%EB%A6%AC%EC%A6%98
https://namu.wiki/w/4%EC%83%89%EC%A0%95%EB%A6%AC?from=4%EC%83%89%20%EB%AC%B8%EC%A0%9C
https://namu.wiki/w/%EC%95%84%EC%9D%B8%EC%8A%88%ED%83%80%EC%9D%B8%20%ED%8D%BC%EC%A6%90?from=%EC%95%84%EC%9D%B8%EC%8A%88%ED%83%80%EC%9D%B8%20%EB%AC%B8%EC%A0%9C
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https://namu.wiki/w/DFS
https://namu.wiki/w/BFS
https://namu.wiki/w/%EC%9A%95%EC%8B%AC%EC%9F%81%EC%9D%B4%20%EC%95%8C%EA%B3%A0%EB%A6%AC%EC%A6%98
https://namu.wiki/w/A*
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£ https://www.hanbit.co.kr/channel/category/category_view.html?cms_code=CMS7793635735
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https://www.hanbit.co.kr/channel/category/category_view.html?cms_code=CMS7793635735
https://programmers.co.kr/learn/courses/30/lessons/43164?language=python3
https://www.acmicpc.net/problem/1303
https://programmers.co.kr/learn/courses/30/lessons/43162?language=python3
https://www.acmicpc.net/problem/1260
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i nport sys
input = sys.stdin.readline
fromcollections inport deque

def dfs(graph, v):
visited = {}
stack = [V]

whi | e stack:
n = stack. pop()
if nnot invisited:
vi si ted. setdefaul t(n)
stack += reversed(graph[n])
return visited

def bfs(graph, v):
visited = {}
queue = deque([Vv])

whi | e queue:
n = queue. popl eft ()
if nnot invisited:
visi ted. setdefaul t(n)
queue += graph[n]
return visited

n, m v = map(int, input().split())

graph = {i:[] for i in range(l,n+1)}
for i in range(l, mHl):
X, y = map(int, input().split())
graph[x] . append(y)
graph[y] . append(x)

for key in graph:
graph[ key] . sort ()

print(" ".join(list(map(str,dfs(graph, v)))))
print(* '.join(list(map(str,bfs(graph, v)))))

dfs : stack reverse
bfs : queue

col l ection extend += . (https://stackoverfl ow conl questions/ 4176980/ i s-ext end-faster-than)
setdefaul t(n)

£3{: https://ebbnflow tistory.com/236
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* First Bad Version (easy)
* Find First and Last Position of Element in Sorted Array (medium)
* Network Delay Time (medium)


https://ebbnflow.tistory.com/236
https://leetcode.com/problems/first-bad-version/
https://leetcode.com/problems/find-first-and-last-position-of-element-in-sorted-array/
https://leetcode.com/problems/network-delay-time/
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1. HFO|2A : https://www.acmicpc.net/problem/2606
2. ©R2|HS £0|7] : https://www.acmicpc.net/problem/2667
3. 224 : https://www.acmicpc.net/problem/2589
4. EOLE : https://www.acmicpc.net/problem/7576
5. N-Queen : https://www.acmicpc.net/problem/9663
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. 3212 E0tE ¢ https://www.acmicpc.net/problem/7569
2. && : https://www.acmicpc.net/problem/3055
3. 718 43| : https://www.acmicpc.net/problem/2151
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https://www.acmicpc.net/problem/2606
https://www.acmicpc.net/problem/2667
https://www.acmicpc.net/problem/2589
https://www.acmicpc.net/problem/7576
https://www.acmicpc.net/problem/9663
https://www.acmicpc.net/problem/7569
https://www.acmicpc.net/problem/3055
https://www.acmicpc.net/problem/2151
https://ko.wikipedia.org/wiki/%EA%B2%80%EC%83%89_%EC%95%8C%EA%B3%A0%EB%A6%AC%EC%A6%98
https://namu.wiki/w/%ED%83%90%EC%83%89%20%EC%95%8C%EA%B3%A0%EB%A6%AC%EC%A6%98
https://freedeveloper.tistory.com/271
https://ebbnflow.tistory.com/236
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